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Var BATNA :array [1..5] of char;

Var BATNA:Array[1..20] of String;

Var Wilaya :Array[1..20] of String;
@ Var Wilaya: Array[1..20] of char;

Var Wilaya : array [1..5] of char;
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S:=0;
Fori:=1To 10 Do
| If ((i Mod 2)=0) And (T[i] <5) Then
Begin

8= S+T[i] ;
¢ End;
Writeln('S=",5);
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ReadIn( M1,M2) ;
Writeln (T[1,2]);
X:=M2[2];

T[i,jl :=M2[i] ;
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Forii=1To 6 Do

If (A1[i]=A2[i]) Then

- M[i] := A1[i]+A2[i]

Else

- MJi] =03

1 point

A Sl el )

Const

—

=5 j=7;
Var

M1 ! Array[l..5] Of integer;

M2 i Array[1..7] Of real;

T % Array[1..5,1..7] Of Real;

X i integer; Y : Real;
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Y := SQR(AC[4,3]+1) ;
Y := SQRT(AC[1,3]+1) ;
Y := AC[Y-1,3]+1;
Y:= AC[2,Y+1]+1;

AC[Y)Y] :=Y;
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(Writeln(M; dedsills M 48 sicas (5 sine (2 e (Say
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T[1]:=2;
Fori:=1 To 3 Do
T[] = 1-T[i];

Fori=1 To 2 Do
. Forj:=1To 3 Do
Ml[i,j] = T[] +1i *j;
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C:=VI[5];
@ V:=9[1];
S := V[1]+V[3]+V[5] ;
S:=C+C;

C:=C;
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:= 'Si vous pouvez le rever vous pourrez le faire';
T[1] :=1;
T[2] := Length(S);
T[3] :=POS('po’,S);
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N := Copy (L,S,2) ;
N := Copy (L,B,2) ;
N := Copy (B,L,2) ;
L := Copy (L,3,2) ;

N := Copy (3,L,2) ;

2 B Y AR ) Y AR (g i diad Al dadadll cca ja 45 e OsSE (@) s (B 1 point
B(1):=B(45);
B(45):=B(1);
B[1]:=B[45];

(® B[45]:=B[1];
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@ B: array [1..3,1..4] of integer;
B: array [1..4,1..3] of integer;
B: array [1...3,1...4] of integer;
B: array [1...4,1...3] of integer;

B: array [3,4] of integer;
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